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Instructions - 1) Check the question paper for fairness of printing. If there is any lack

of fairness, inform the hall supervisor immediately.

2) Only blue or black ink must be used to write and underline. Pencil can

be used to draw the diagrams.

uggl -1/ PART -1
eoluy: (i) gmearsg alarréseps@n el wefldsseayi. 15X1=15
(i) Qsr@ssiul_Qsrer wrHpiailenL sefley saybahyemw aflepi_soiu
CaihosHS5515 GO BLsTalsnL ullsnerujn CFidg sTapsaib.
Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. arserd Quriss Camewrer ssdlamw o Husg Qeiig QeTHliug o7g?
3|) FESSTLD 9y,) eTsiradlesr @) Slwr urEev FF) 1q LT esTdluied
The plant used to produce the energy needed to the vehicle is
a) Wheel b) Engine c) Gear box d) Differentia
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ST ESGT YDDMV BT6H G FHHETSSDGLD SLSSID @Bwdsn

9)) peryp ereredler Lesrassr @) widasin

) PSTYD eTTESGT W6iT FSST B)wib b

@) wpeiTym eTeTSleT BTG FHBT [OIE L3N]

) eI &I (3)sVsmev

The drive used in transmitting the engine power to four wheels equally is
a) Front engine rear wheel drive

b) Front engine front wheel drive

c¢)Front engine four wheel drive

d) None of the above

sTeTefla@is@h Hwiursedn@in @l Gu QurEpssiu@h LTHD

9|) FESTLD 9,) Henri_& @) g urerdwen ) ujesfleui a6
somuflesory

The part fixed in between engine and gear box is

a)Wheel b) Clutch c) Differential d) Universe joint

Sler_g Gar g6 B)5 Wpaliysafligibd QUTrEGSSILG S

9y) Fer_a el 91) Hear_§ ant

@) Heni’_ & ewevestins ) Sler_& @)ewevoriiny
Itis fixed at both edges of the clutch plate.

a) Clutch spring b) Clutch hub

b) Clutch lining d) Clutch linkage

yuratdiedlsy Q) BHE ursamigw F&Henu Uers&sr58h@E; sL_ggib ursid
3|) eI IS o) et o5 @) Cxib Hevsr(® ) Er sl & 63T (R
The part used to transmit the power from differential to rear wheels is

a) Front axle b) Rear axle ¢) Cam shaft d) Crank shaft

HGrd glraugens Crillgg emaisgid Qarsienid LTsiD

9)) Fasy Al ) eTanTQlemris G mig

@) tygrer Hedlessi_i FF) 6TeusTG)emTIl LItDL)

The part which stores brake fluid is

a) Wheel cylinder b) Qil tank ¢) Master cylinder d) Oil pump
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10.

11.

12.

sTHMIS SeoL Smwiifld) CHmauTaT HWHsHE STHOM o _Mugg GlFiiuib

& mel
) STHMI angHL1g <) Lrgrer HedlesrL i
@) sTHD WSS ) STHDI CSTL g

The device used to produce the compressed air in the air brake system is

a) Air filter b) Master cylinder

c) Air compressor d) Air tank

L _en afleb QTN o eTem BHemoTeT ut_eni_uilest Gl

9}) wreVLT el <) Gasbum @) GasoL i ) &9
Name the Lengthiest leaf in the leaf spring assembly.

a) Master leaf b) Camber c) Caster d) Eye

Hreu gFlisd 2 Mlerd QUG $oHHiaIb
) BlupL_L 6T S)) 2 ymiiey) B) CgoyGarev FF) LIT6E 6V
The principle of hydraulic absorber is

a) Newton b) Friction c) Lever d) Pascal

STHGHT (PSVLD GUTEGITHSIHT (P6ST FESTRISMET CHEMOULITETLILG @ wssorn?
9|) FOVOIUSHTFHT HjeMLOLIL] 2) LNGrd gjemioliy

@) srorquwiflia gjewioliy ) 6TeVSLM&560 Jjewioliy
Through which part the front wheels can be turned in the vehicles?

a) Suspension system b) Brake system

c) Steering system d) Electrical system

Sj&a wHmid $or AAwuaubPing GeCu o srer G Cleuaf

) Gorgs 2 wrid 9) Cords Herid

@) Quorgs HD ) semrwl L @enL Gleuef
The distance between the axle and ground is called

a) Overall height b) Overall length

c) Overall width d) Ground clearance

Gpriflsr ;_r,a;@ LHmib THTA6T S 19 HEG G Cu B muug
<) NAduTesr =) Geuaflls uTgZrid
@) lersa0H ) eTHS (Lpemesr
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It is fixed between positive electroplate and negative electroplate.

a) Separator  b) Container ¢) Electrode d) Battery terminal
13. Quiss g Hmewev 6T Y HDOTE WTHDILD FTEETLD.

3) wL_erGor 94,) Wletr QoL

@) e igm Guori_L T

) MGev yemioriLy

It converts mechanical energy into electrical energy.

a) Dynamo b) Electric motor c¢) Steering motor d) Relay

14. g Flioysemeng srid CFrgFrer LILMTS®S SHalgl
3| FWEILISTFGT SjeWLOLIL] 2) NCrd oyemioliny
@) sTewd L MNEH0 SjemLoLiLy ) emel_Gl_eflEs gyemioLy
The system that absorbs the vibrations to give comfortabie journey is
a) Suspension system b) Brake system

c) Electrical system d) Lightening system

15. o 45 ul g upssaT alfsid

<) 1:1 <) 2:1 @) 1:2 F) 1:3
The top gear ratio is
.a) 1:1 b) 2:1 c) 1:2 d) 1.3

ued -l | PART—II

sTwaUGWEID UGG alaTTHSEhdE aflwL wellésab. . 10X3=30

oflerrereisr 28 —&@ sLLmwors elleoLwealssayn
Answer any TEN questions. Question No. 28 is compulsory.

16. 5338 &L_sgID HHOILNGT QUMSSH 6T wWTsweu?

What are the types of power transmission system?

17. Her_§ sk — suenrwmiss.

Define : Clutch spring.

18. umsssr allflFid sTasTmTED sTeiTsRT?

What is called Gear ratio?
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19. geur ipewTel eTTMTS 6T6RTeR?
What is over drive?
20. wyrmeterouti Gaen eTEITLIG) 6TEOT6H ?

What is transfer case?

21, {OlFTlLVT aGTLIG6H UENHSBET W Tem6u?

What are the types of propeller shaft?

22. werfleuiasy gamuilewtiqeir GHemeauskalr sTearenr?

What are the requirements for universal joint?

23. 1wl U TImISS.
Define Tube.

24. uveui e WABISGT 6UHEHHET WTeneu?

What are the type of power steering?

25, Gumen 19657 QUENSSEET 6T63T6 7

What are the type of vehicle body?

26. L cuens HenL w6 BHETEOLHMET 6TULSIS.

Write the advantages of disc brake.

27. steaGrrensyL suenIiimIhs.
Define Electrolyte.

28. @eafliFrger Semwiniler s LTHBISET wireneu?

What are the components of Air Conditioning system?

ugg - Il / PART - Il

sTemeuGigyid Whg TTSEHERE:EG @PHUSS Jeralls allaw_welldseyp 5X5=25
aflestm stevwr 35-d(@ &L_Lmwiors aflenL_twiefldsayLb.

Answer any five questions of the given below in one page
Question No. 35 is compulsory

29. sreflwig surser glu@smauller uTemhisaer UL Lgwedl[H%.

List out the part of Automobile chassis.
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30. oGz @ sums uNFSETSmzl uny allauflss.
Briefly explain about any one type gear.
31. Herl s swevesfina alleulss.

Explain about clutch lining.

32. s&sr Hedlevsr_fledr LIL LD suMTHG UTHBIGNNS &DIILNBS.

Draw and mark the parts of wheel cylinder.

33. ulewL aflev evifd gewwing unyl elleufss.

Explain the construction of the leaf spring.

34. gCGszemid @ suews Mwi y&flensw alloufss.

Explain any one type rear axle.

35. sriw Sflev OeTHSS 6T LIL_1D uenT .

Draw a neat sketch of Lead acid battery.

ugd —IV/ PART - IV

WSS alleTTSE EHd G aflen_weaflssab . 2x10=20
Answer both questions.
36. Lwrdirh Harl g gemivlients LD uenThgl efleufds.
Draw and explain diaphragm clutch.
(oysvsvg / or)
g uFeTFwed emwlisnut gL 6T eofleuflaseayip.
Explain the construction of differential with neat sketch.
37.  evigwifli Semwiniley o srer GmDUTHSMaTWD Blouisd GClFuiud
(PEODEDWIUYD YL aeHeRTLILIHS SIS,

Tabulate the trouble shooting and corrective method$ of steering system.

(oysvsvg / OF)
GCli6Tig d610 196Dl 6L T 1g 8 Corl_L_Teny UL b euenyhg aileuflss.

Draw and explain about bendix drive starting motor.
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